
Answer on Question #39603, Physics, Mechanics | Kinematics | 

Dynamics 

Question: 

what is the cross product A >< B under mirror reflection 

Answer: 

If a point of an object has coordinates (x, y, z) then the image of this point (as 

reflected by a mirror in the y, z plane) has coordinates (-x, y, z). 

Suppose 𝐴 x 𝐵⃗⃗ = 𝐶 

Therefore, cross product transforms: 

𝐴′⃗⃗ ⃗⃗ x 𝐵′⃗⃗⃗⃗⃗ = |
𝑖 𝑗 𝑘⃗⃗

−𝐴𝑥 𝐴𝑦 𝐴𝑧
−𝐵𝑥 𝐵𝑦 𝐵𝑧

| = 𝑖𝐶𝑥 − 𝑗𝐶𝑦 − 𝑘⃗⃗𝐶𝑧 = (

𝐶𝑥
−𝐶𝑦
−𝐶𝑧

) 

Answer:  𝐴′⃗⃗ ⃗⃗ x 𝐵′⃗⃗⃗⃗⃗ =

(

 
 
(𝐴 x 𝐵⃗⃗)

𝑥

−(𝐴 x 𝐵⃗⃗)
𝑦

−(𝐴 x 𝐵⃗⃗)
𝑧)
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